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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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2  =  219    
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 / 
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Q  =0,048
 / 

1  =   57  
2  =  57    

L =   92  
Q =0,1002

 / 

1  =   57  
2  =  57    

L =   14  
Q =1,5123

 / 

1  =   219   
2  =  219    

L =  36   

Q =0,0046
 / 

1  =   25  
2  =  25    

L =   20  

Q =1,413
 / 

1  =   219   
2  =  219    

L =  10  

Q =1,4175
 / 

1  =   219   
2  =  219    

L =  20   

Q =1,413
 / 

1  =   219   
2  =  219    

L =  10  

Q =1,329
 / 

1  =   219   
2  =  219    

L =  60  

Q =1,1189
 / 

1  =   219   
2  =  219    

L =  45  
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 / 
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2  =  219    

L =  5  
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 / 
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L =  25  
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 / 

1  =  76   
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L =  15 
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 / 

1  =   108   
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 / 
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2  =  76   
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 / 
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 / 
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 / 
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 / 
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 / 

1  =   57  
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L =   7  

Q =0,0066
 / 

1  =   57  
2  =  57    

L =   24  

Q =0,88
 / 

1  =   219   
2  =  219    

L =  48  

Q =0,7502
 / 

1  =   219   
2  =  219    

L =  39  
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 / 

1  =   219   
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 / 

1  =   219   
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 / 

1  =   219   
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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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 / 
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Q =0,0152

Q =0,0152 Q =0,076

Q =0,076

Q =0,581

Q =0,0056

Q =0,5698

Q =0,0635

.
.

. . 12.12 .

.

. .

12.12 .

12.12 .

. . . . 12.12 .

.
.

. . 12.12 .

.

. .

12.12 .

12.12 .

. . . . 12.12 .

.
.

. . 12.12 .

.

. .

12.12 .

12.12 .

. . . . 12.12 .

.
.

. . 12.12 .

.

. .

12.12 .

12.12 .

. . . . 12.12 .

.
.

. . 12.12 .

.

. .

12.12 .

12.12 .

. . . . 12.12 .

.
.

. . 12.12 .

.

. .

12.12 .

12.12 .

. . . . 12.12 .

 30

 5 . .

 30

. . " "

 5 . .

 30
. . , .

. . , 24.

. . " "
. . , 7- .

 30
. . , .

 5 . .
. . , 32.

 5 . .
. . , 32.

 359  12  2011 .
 359  12  2011 .

 359  12  2011 .

 359  12  2011 .

 359  12  2011 .

 359  12  2011 .

Clic
k h

ere
 to

 buy

A
BB

YY PDF Transformer 2.0

www.ABBYY.com
Clic

k h
ere

 to
 buy

A
BB

YY PDF Transformer 2.0

www.ABBYY.com

http://www.abbyy.com/buy
http://www.abbyy.com/buy

